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BECC-131 : PRINCIPLES OF MICRO
ECONOMICS—I

Time : 3 Hours Maximum Marks : 100

Note : Answer questions from each Section as per

instructions.

Section—A

Note : Answer any two questions from this Section.

2x20=40

1. (a) Define a production possibility curve along

with underlying assumptions. 8

(b) On which part of the production possibility
diagram does production take place when
resources are underutilised ? Explain using

a diagram. 6

Lot-I P.T.O.



[2] BECC-131

(¢c) What could bring a shift in the production

possibility curve ? 6

Given the equation :

Q=u-vP ... A)

where Q stands for quantity of a commodity,
P for price for that commodity, © and v

represent any constant numbers.
Answer the following questions :

(a) Is the given equation a demand or supply

equation ? Give reason for your answer. 6

(b) Now consider another equation :
Q=w+xP . (B)

Here again Q stands for quantity of a
commodity, P for price of that commodity,
w and x represent any constant numbers.
Considering equations (A) and (B)
determine the equilibrium price (P*) and

quantity of the commodity (Q¥). 8

(¢) Letu=600,v=2, w=300and x=4. What
will be the value of equilibrium price (P¥*)

and quantity (Q*) ? 6
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3. (a) Illustrate and discuss the three stages of
production using the average product and

marginal product curves. 10

(b) In which stage of production will a rational

producer produce and why ? 10

4. Illustrate isoquants having positively sloped
segments. In the same diagram construct ridge
lines and explain the concept of economic region
of production. 20

Section—B

Note : Answer any four questions from this
Section. 4x12=48

5. What do you mean by Price Elasticity of Supply ?
Illustrate a unitary elastic supply curve. How
does the shape of this supply curve change

when supply becomes elastic ? 12

6. Explain with diagram the law of diminishing
marginal utility. State the limitations of this
law. 12

7. What is meant by a demand schedule ? Why are
demand curves downward sloping ? Explain
using the concept of substitution, income and

price effects. 12

P.T.O.
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8. Consider the figure below, where capital (K)
and Labour (L) are the factors of production
producing output I, I, Is representing

isoquants for output levels 100, 200 and

300 units respectively : 12
%
E
& I3 = 300
O
I, =200
I =100
o Labour (L)

(a) Identify returns to scale represented by the
above set of 1soquants. What are the

factors that lead to such returns to scale 76

(b) Distinguish between real and pecuniary

internal economies. 6

9. A firm which is producing efficiently in the
short-run may not be efficient in the long-run.
Discuss using short-run average cost curves

and long-run average cost curve. 12



10.

11.
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Explain the rationing system for allocation of
scarce resources. How does a price ceiling set
below the equilibrium price level affect the
quantity demanded and quantity supplied of a
product ? 12

Section—C

Write short notes on any three of the

following : 3x4=12
(1) Economic laws

(1) Giffen good

(111) Implicit cost

(iv) Public goods

(v) Positive economics

(vi) Merit goods

P.T.O.
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& ki HoH HET (QF) d W hiHd
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Araeiie B S, d 39 dsh 1 6K fhd9 YR
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Teh e g g HHid SYAifiar <1 e
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qim difersnt w1 @ e1ef & 2 Wi s qfer iR
ol F Bt § 2 wiaedred, g den shiwa
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(L) 99 SR & T ®Weh ¢ TSRl TAR
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I, I, 91 Is I 9HICAE a6 9 100, 200

AT 300 THISAT T Scaed <91 ®@ ® ¢

I = 300

ST (K)

I,=200
[, =100

a9 (L)
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10. 309 WA AEed & fau I[W@H e Hi

AT DIV AR I=Aaq G Fded HIAd §
e =ifyq 1 S 2, @ ST 9% HI A SR
MY T AEST | R goE g ? 12
S

11. frfafeq o @ foel a7 W wfwa feofort
fafe : 3x4=12
(i) e fem
i) Free o

(i) Tfed <rma

(iv) WS %]
(v) Taearcass stefome

(vi) To=ie o1 asred
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